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79.2%° 11 16

e 12,223 16
0 35215 m° 16 °
o 1 2.88m°%
61,349 62,311><0.792 =288 m¥ 35 m®
25 tCO2 =7 tC 5
12 32.0%
87.1% 6 16
1,870<0.7 4,043%<0.32 =288 m¥ 42 m
6,858 6,878>0.871 =288 m¥ 2.4 m®
1.8 tCO2 =05 t-C
2 12 16
3
4
5 0.4 0.5
15 3
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12 3 2 35
16
2 1 20
54t-CO2
e
e 40%
o) 2,680kg-CO2/ '
1
12 CO2
/ t-CO2
15.7% 802 800 2.0 5.4
4.3% 321 320 0.9 25
13.0% 3,109 3,072 8.4 22.6
16.3% 2,454 2,415 8.9 23.9
6,687 6,606 20.3 54.4
12 3 6 3
16
09 m
e 2.88m°/
e
e 50%
e
82.9% 39.9%



14,113 14,197><0.813 =274 g/ =288 m¥
>=<0.829%<0.5 839 m’
584 587>0.739 =274 g/ <288 m¥
=<0.399%<05 24 m®
11 tCO2 =03 tC

12 3 7
9 16
74
199t-CO2
40%
17.1%
60.1%
2,680kg-COz2/
14,113 14,197>0.291 <100 g/  >=0.171><0.4 68
584 587>0.577 <100 g/  >=0.601><0.4 6
199t-CO2
12 3 12
13 16
3
7.6t-CO2
119 121>0.022 <34 g/ <04 16
158 161>0.156 =24 g/ <04 13
7.6t-CO2
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1
302 233 kWh/ 13,666 > 0995 0.333
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0 1

¢) 9 337kWh/ *°
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0 18 9

31%"
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1
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><0.421 kg-CO2/kWh 307 t-CO2
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1
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¢} 1
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1
27 16  kWh/  >=<3,626 > 0.977 0.500
><0.421 kg-CO2/kWh 8 t-CO»
o) 1
o)
o) W <23 <365
e 9 455w/ 18
e 15 1.88w/ 18
e 5998
o 12 27KWh/
> 16kWh/
o) 12 50.0%
12
16
1
1,228 1,097 kwh/ 7,989 > 0.995 0.429
=<0.421 kg-CO2/kWh 250 t-CO2
o) 1
e) 2.8kKW
> CoP COP=4.90
e) COP
18
10 12
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COP=4.90

236kWh/ 861kWh/ 1,097kWh/
o 12 277kWh/ COP=4.17
951kWh/ COP=4.41 1,228kwWh/ %
O 0.421kg-CO2/kWh
O 12 42.9%
Hf
Hf
1
132 94 W <8 =20 <12 -=1,000 kWh/ >
27,531 =<0.421 kg-CO2/kWh 846 t-CO2
O 1
O Hf 12
O Hf FHF32 45W <2 FLR40><3
e 132kw/ %
O Hf 94kw/ %
O kwWh/ =<8 =20 x<12
O 0.421kg-CO2/kWh
19 0.943 0.938
2 2.8KW COP
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481 kW ><0.12><365 / <24

><0.421 kg-CO2/kWh 213 t-CO2

e 1
e KWh/ KW >
> 365 / =24 /
e 1 kW >=0.12%<365 | =24 / 1,051 kwh/ ¥
e 0.421kg-CO2/kWh
12 15
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2 3
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31
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@) 12 11.6%
2 16 33.5% 15 14
o 3 1
@) 15 3.4%
@) 16 267,420
61,349 22.9% 15 27.9%
— 335%
1,000,000 — =3 ——32.1%
_._
30%
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23.6%
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267,420 =288 m¥ 770 m
565 t-CO2 =154 t-C
33
O 12 15.7% 16
33.6% 2.1 15
2
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21.5% 5 15
3 3
O 12 13.0% 16
43.4% 3.3 15 16
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| ==
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2,500 2,366
21.9% 215%
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250,000 |
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/ t-CO2
28,573 86 230
23,239 71 189
156,086 499 1,339
135,143 608 1,630
343,041 1,264 3,387
36
o} 12 81.3%° 16
98.5% 3 6
O 17
O 12 29.1% 16
64.5% 35 3 7
267,437 98.2% 98.5% i B 76,949
poyen, 253208 908% 100% 80000 25643
43516
‘ 1 60,000 -
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40,000
20000 |-
4 20%
0% 0
12 13 14 15 16
6 3 7
36
12 58.7% 13 58.9% 14 56.5% 15 64.2% 16 58.4%
12 39.1% 13 39.6% 14 44.7% 15 56.8% 16 56.4%
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15

31

O 12 73.9% 16
95.0%
o 3 8
@) 17
O 12 57.7% 16
76.2% 15
3 9
95.4% 95.0% —— 100% 8,000
‘ 76.2%
0% 78.4%
6,000 1,586 1,811
57.7%
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40%
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20%
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8 3
38
@) 16 1,058
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